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gooooon 0oooo X (2/10)

» 000000 (N)O 00000 ()0 000000 (QOOoO0
000 (R) 0000000000000 (D00 addition) D00
0 (000 multiplication) 0 200000000000000
ooo

»70 QO ROODDOOOOR\{0} 00000000 000
gbooooboboooobobobooooooono o oo
000000000 0QUO ROODODODDODODOOODODODOD
00000000 O (ring) 0 O OOOO field; O : KorperD O
gooooooo



00000 X (3/10)

» 7, Q ROIODODODODODOO0OOOOOOOOOOOOO0O00OO
00 O (rng) 00000000

» U0 RO RODODDOOUOD +,«000 0 OOODOODDOO
goooooooooono:

> (RO odoog g 04+ 00000000 ogo

ooooo

> (R,«)0 000 0 OO0 O0O0O000O0OO00O0OO0OOO0O0O
OO0 RODODO 1000D000O0O00ODO a,b,cerOODD
(i) ax(bxc)=(axb)=xc,
(i) axb=bxa,
(i) 1xa=a
oooooo

>+ 0«x0000 000 0000000000 0000 a, b,
ceROOODODO
(iv) (a+b)xc=axc+bxc
ooooon



O (2/4) 00000 X (4/10)
» 00 RO ROOOOOOD +,+000 0 0000000000000C

ooooooo:
> (R,+)0 00000 0000+ 00000000 0OOOOOODO

> (R,x) 0 0000 OO0 00D00D0O0OO0O0 0DOD0O0DOOOOOO R
000 1000000000 a, b,ceROOOO
(i) ax(bxc)=(axb)x*c,
(i) axb=b=xa,
(i) 1xa=a000000
> +0«0000 000 00000000000000 a,b,ceRrRDO

gogoo
(iv) (a+b)xc=axc+bxcODODOOODO

» ()OOOOGH) D (W) 0DO0OD00O00 a b ceRODODOD
(i) ax1=a

(iv) ax(b+c)=axb+axc

goooboooboobo



0 (3/4) 00000 X (5/10)

» OO RO ROOODOOD +,«000 0 COO0ODOOOOOOOOGODOO
ooooooo:
> (R,+)0 00000 0000+ 00000000 0OOOOOODO

> (R,x) 0 0000 OO0 00D00D0O0OO0O0 0DOD0O0DOOOOOO R
000 1000000000 a, b,ceROOOO
(i) ax(bxc)=(axb)x*c,
(i) axb=b=xa,
(i) 1xa=a000000

> +0«0000 000 O0000000000C0O000O a,b,ceRrRO
oooad
(iv) (a+b)*sc=axc+bxcOODODOODO

»2c RO 4+0000000 —a00O0ODOOOODO

» 0000 aceRODODOOOxa=00000
[0xa=(0+0)xa=0xa+0xa00000 —(0xa) 0000
0xa=0000000]

» 0000 ac ROOOO(-1)xa=-a0000[(~1)*a+a=
(-l)xa+1lsxa=(-1+1)xa=0xa=0]



O (4/4) 00000 X (6/10)
» 00 RO ROOOOOOD +,+000 0 0000000000000C

ooooooo:
> (R,+)0 00000 0000+ 00000000 0OOOOOODO

> (R,x) 0 0000 OO0 00D00D0O0OO0O0 0DOD0O0DOOOOOO R
000 1000000000 a, b,ceROOOO
(i) ax(bxc)=(axb)x*c,
(i) axb=b=xa,
(i) 1xa=a000000

> +0«0000 000 O0000000000C0O000O a,b,ceRrRO
oooad
(iv) (a+b)*sc=axc+bxcOODODOODO

()¢ (1)=10000[-D): (1) (1) =
1) ¢ (1) + 1% (~1) = (-1 + 1)+ (~1) = 0% (~1) = 0]

0000 a, be RODOOOO(—a)*(—b)=axb0000
(~2)«(=b) = (1)« 2+ (1) b= ((-1)+ (D) va b=

lxaxb=axb]

>
(-
>
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» NOODOOOOODOO 2000000000000000
ooooo

»7Z0 QU ROODOOODOOO 20000000DCO0OOO

» OO0 O0O0o0ooboobooooboobobbooboobobobo
oboo: ROOODDODODOOODODODODOOOODOODO
ooooog

» QX] 0000 X0OOO QOOOD0DD00000O000OO0
DO2X*+2X -4 0 QX]00DO0OD0OQOOOD 000D
000000 QX]o0o0o0o00O

Q[X]00000000000000000000000%[X],
R[X] 0OOO

»neN, n>00000Z,0 modnOUOOODOOOOODOO
gbobooooodz,0boooogoobooobo1,...,n=100000
gooog
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» O (R,+,+) 0000

o (R\{0},+) 00D0DOO

O0000O00(R,+,*) 0 O (00OUfield; U :Korper) DO OO
god

> (R, J)DDDDDDDDDDDDDDDDDDDDD*DD
00 100(R\{0},+x) 00000000000000

» Q ROODODOOOOOO 20000000000O0DZOO
oboooooooboobooooooooo

» Z, 0D000000O,D00000O000DOO
> 0000000000 O00DOO00DOO0ODODO0ODOO:

n0 mODOODOOOOOOODOODOOO0DOO0O0OONnDO mOOODO
000 10000000000uw, veZUOOun+vm=1000
ooooooooooo




Z, 0 Q(X) 00000 X (9/10)

» pU000O0O0O00O0OZ,00,...p—10000000000O
oboooooooooooooog

» 2, 000000000000000000000000000
oboooobobooooooobobo

> {50g - F(X).8(X) € QIX]. g(X) £0} DODOO
gf,(()f()) N %3) & f(X)g'(X)=f'(X)g(X)DOOODODOOOOO

0000 Q(X)000000Q(X) 0000000000000
00000000000000 QX]000000000000
00000000000000000000000 Q(X) 000
ooo
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This file and the version for the presentation as well as some of the
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gooooood Top. reflection theorems (A1)

» (R,+) 00000000000 O0O0OO0 0eROOOOO

(al) 0000 x,y,ze ROODOO (x+y)+z=x+(y+2) O
ooooo oooooo

(a2) OO0O0 xe ROOOO0+x=x+0=x0000
ooooooon

(a3) 0000 xe ROODOOx+y=y+1=0000000

yeROODODODOO ooooooo
(a4) 000000 x,y00OOOx+y=y+x0000
ooooo

» (R,+) 00000000 (R,+)0 (al), (a2), (a3) DODODOO
0ooooo

» 000 (a4) 000000(2)0 (3) 0000000000
0+x=0x+y=00000000000



